BT 4 & & 5 ES i
15050( /A |LIET 1,820 897 923 754
15051 | ALL&E 1,848 893 955 669
15020 H ;8T 3,090 1,594 1,496 1,211
15031|H:#x 830 416 414 227
15060| & SEAT 1,301 705 596 595
15040|;E A ZEHT 12 12 0 12
15061 | HEE 838 399 439 306
B2iEL/MREE 9,739 4916 4,823 3,774
15130| E (T 2,701 1,297 1,404 990
15120| ;% /K BT 413 207 206 152
15140| 3% E I [ #h 333 149 184 128
15104 > 5 A ET L&D 653 302 351 268
15141 |38 0 N ET 711 308 403 223
B /MRXE 4811 2,263 2,548 1,761
15111 3% E IGHET 2,919 1,209 1,710 1,257
15102 % B 5HT 1,208 539 669 534
BI/MRXE 4127 1,748 2,379 1,791
15010 /)M iits ET 5,221 2,537 2,684 2,186
15090| > 1 EE BT 893 405 488 366
15080| >< L1 J1| BT 1,559 699 860 638
15071 3 & ;EE BT 1,498 679 819 636
PR ER /MR X 5 9,171 4,320 4,851 3,826
R # WU & 27,848 13,247 14,601 11,152
XEHRE=—1—2Y i (B 9,063 3,982 5,081 3,827

BT 4 & &t 5 S i
16010 | A EFHT 540 258 282 189
16030 | = JI1 BT 223 105 118 81
16020 | ;557 BT 347 155 192 131
16040 | £ K& Fr BT 582 276 306 152
16050 | T X i EF AT 496 243 253 184
A /MRXE REE 2,188 1,037 1,151 737

BT 4 & & 5 ES i
17010/ Z I HET 784 382 402 300
17020| 75 £ BT 740 335 405 280
17030 & FHHET 254 117 137 86
17040| &1 F 7K BT 212 103 109 78
17050 X 35T 90 40 50 33
17060| B AIEHET 156 80 76 53
17070| & HHET 1,536 666 870 490
17090| 1E A FFHT 403 186 217 130
17100| = X BT 309 138 171 102
17110| 9 ;EHT 340 164 176 119
17120| 9 R AT 262 121 141 82
17130 J= 5 BT 121 54 67 47
EH/MZXE EREHE 5,207 2,386 2,821 1,800

SHETHRTRIMEET A O FR28412 1B RE
TR EERRAEDHEEEICEDAOEHHEEICLE-AORVETER
Hhig % & &t 5 £ i
REM &5t 137,390 | 64,797 72,593 52,310
< HIA > 34 -17 51 67
(RIEELE) -763 -269 -494 288
BT 4 & i 5 E:S i
11010 | Z/)NERET 163 80 83 80
11080 | {4 BT 1,144 534 610 437
11110 | £ HT 313 141 172 152
11130 | 5 HT 186 78 108 93
11120 | /\3x BT 106 51 55 46
11040 | A<HT 242 118 124 98
11050 | BRAHT 211 98 113 99
11060 | fIE BT 374 161 213 160
11030 | /\ X BT 692 314 378 338
11100 | /E 4 BT 213 90 123 103
11020 | =, 355 BT 93 38 55 45
11090 | s=HT 3,897 1,819 2,078 1,647
FRE /MR E 7,634 3,522 4112 3,298
11270 | 75 SR ET 1,014 453 561 418
11280 | #riE BT 477 225 252 216
11260 |37 & BT 292 165 127 137
11240 | £ E7HT 371 174 197 148
11250 | a4 BT 928 425 503 470
11230 | /R O BT 1,404 612 792 670
11220 |7 /)N ET 467 213 254 191
11210 | FHRET 1,184 552 632 535
11290 | F5 BT 752 352 400 254
/MR E 6,889 3171 3,718 3,039
11410 | {2 HET 4,498 2,071 2,427 1,815
11430 | R ET 1,520 714 806 695
11460 |k 7 BT 1,894 906 988 802
11470 | X5 ET 2,217 1,022 1,195 973
11440 | £ A BT 651 300 351 262
11450 | B 0 H ET 1,780 870 910 663
LR E /MR X EF 12,560 5,883 6,677 5210
11490 | 7k E BT 1,885 851 1,034 890
11480 |7k & B HET 857 407 450 448
11500 | 5 H BT 4,337 2,028 2,309 1,766
11510 | 75 5 R HT 1,260 614 646 480
15150 F5 &8 H BT 332 170 162 116
15160 K= HT 611 302 309 165
EEE L/ MR R ET 9,282 4372 4910 3,865
11520 | Z<BA T 703 339 364 242
11530 | B {CHT 1,238 610 628 342
ERB/NRXE 1,941 949 992 584
PR E 38,306 17,897 20,409 15,996

Hhigk % & § 5 = HE
S5 B ph s 93,902 44531 49,371 36,750
<BTA k> 63 -4 67 55
(RITEEEE) -164 -61 -103 290
% B Rihig 16,089 7,583 8,506 6,032
<ATA k> -17 -12 -5 0
(RIS EE) -133 -34 -99 20
1L Hh s 5,337 2,442 2,895 1,807
<HTA > 11 5 6 7
(ﬁﬁﬁtt) -69 -25 -44 15
2 b 7,013 3,324 3,689 2,480
<A A k> -12 -3 -9 2
(RITEEEE) -109 -36 -73 -5
(= 3 9,701 4574 5127 3,399
<HITA k> -14 -6 -8 4
(RITEEEE) -161 =72 -89 -19
INRFF IR 5,348 2,343 3,005 1,842
<BITA k> 3 3 0 -1
(AT EE) -127 -41 -86 -13

BT 4 & § 5 = HE
12060| /vy 2 BT 215 101 114 72
12090 /711 BT 4,286 2,385 1,901 1,367
12080/ Z 55 BT 1,230 601 629 462
12070) )11 R BT 1,011 501 510 294
INEEINVR X 5T 6,742 3,588 3,154 2,195
12040| Z m AT 1,726 788 938 689
12010| F LLI BT 1,605 810 795 682
12030| 1 Efi £7 E BT 368 191 177 155
#EBHE MR ET 3,699 1,789 1,910 1,526
N FE R 10,441 5377 5,064 3,721

BT 4 & § 5 = HE
13060| 7 L5 BT 564 262 302 192
13050/ 22 U5 BT 395 184 211 144
13030 /N E7 T 974 467 507 366
13070| /87 E AT 827 381 446 244
13080 )1| AT 1,202 563 639 461
13010| & E7 AT 833 413 420 314
13020| 5= 75 T 720 353 367 265
INERNMVRIR INERERT 5,515 2,623 2,892 1,986

B £ & i 5 = HE
14010 # B i 877 422 455 334
14030| 5 = HT 1,823 760 1,063 426
14060| 2 7 BT 461 212 249 186
14090| X e ET 405 189 216 128
14080 8 AT 704 322 382 241
14070 %25 H BT 127 59 68 43
FE/MMXXE BEE 4,397 1,964 2,433 1,358
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SHETHRTRIMEET A O FR28412 1B RE
TR EERRAEOHEEEICESAOEHBEEEICLEAORVETER
X% & &t 5 £ 5 X & & & 5 = i Hh X % a & 5 £ 5
20001 [>—H /K1 603 279 324 239 30310| AR (EF - f1- L) 735 357 378 248 50010|#:E & 484 193 291 125
20002 [>—H/F2KX 783 359 424 301 30360| 42 & 805 371 434 293 50020| = &= 652 325 327 262
20003 [>—H /K3 697 338 359 269 30500|FE Lt 1,119 449 670 338 50050| B 349 152 197 114
20004 [>—H (/KR4 718 356 362 280 FILFE /MR E 2,659 1,177 1,482 879 50060|ET & 349 149 200 112
20005 [ K & 853 394 459 354 30100| EEEm E7 557 256 301 184 50070|:% )11 188 95 93 80
20006 [1LE 493 234 259 205 30200| A #¥ 701 344 357 248 50080| £ % 477 236 241 175
B RGER/MREE 4147 1,960 2,187 1,648 30300|HA(ZFE-H- LDH) 184 85 99 64 50090] /] ig 415 205 210 150
20007 [Z 15 284 144 140 119 30600|_F F & H 534 253 281 190 50100| & 1¥F 167 78 89 53
20008 |18 H 276 124 152 122 30700| THAEH 702 327 375 242 50110| R 593 269 324 203
20009 | AT &% 354 164 190 158 FZILFE/ MR E 2,678 1,265 1,413 928 50130|/K /@ 114 54 60 36
20010 [fLE 1R 843 351 492 207 FxL i & 5,337 2,442 2,895 1,807 50140|:& 0 513 236 277 204
20011 [fLE2K 481 225 256 200 50170 1LI:& 236 99 137 96
20012 |HtE/ B 412 207 205 191 X £ & i 5 = HE 50180 ;& 7K 364 183 181 140
20013 |(B)fiE 448 214 234 172 40101| % H 700 312 388 224 50190(3R 7T 241 114 127 80
20014 | A K1 1,133 556 577 440 40201 |fyiE 311 133 178 146 50200| £# H 80 46 34 13
20015 [ R ER2 830 404 426 306 40301| F ¥ 411 193 218 171 50220| R 169 71 98 59
20016 [ B 1,161 571 590 423 40401 | A& 165 87 78 58 50230| £ I 360 181 179 112
20017 | = ~ ;2 ih 1,135 548 587 443 40501 |{x H 419 185 234 145 LI T 5,751 2,686 3,065 2,014
20018 | T 591 282 309 216 40601|/N& 638 291 347 251 50250| T 5 590 279 311 222
20019 | £ 362 168 194 129 40701 | 515 791 393 398 271 50270| £ 5 112 56 56 47
20020 | 1L 236 118 118 96 40801| A& 348 164 184 110 50280 & 652 299 353 224
20021 | % B R Hih 503 228 275 191 40901| 1O 448 223 225 143 50300|F H 132 64 68 37
20022 [#8)IIA 311 141 170 115 41001 |FA 694 350 344 232 50310|#fLL 171 83 88 54
B REIMRXE 9,360 4,445 4915 3,528 41101| L& 407 199 208 118 50320| 75 /R 271 137 134 96
20023 | R E 169 84 85 58 P EUNTES] 5332 2,530 2,802 1,869 50330| 75 2 236 110 126 63
20024 |7 E 262 117 145 90 41201t F 270 121 149 117 50340 /] i iE 290 141 149 107
20025 |7 &l 336 149 187 129 41301|;FK 490 228 262 161 50360/ &7 15 65 27 38 25
RE/NMRIXE 767 350 417 277 41401|FF 280 133 147 101 50380| &1L 156 71 85 49
20026 [TE 448 193 255 156 41501| @ F 150 70 80 60 50390| fin;E 507 248 259 178
20027 [£7)IIA 248 111 137 66 41601|)I| 215 96 119 79 50430| K& 422 198 224 154
20028 [LL)IIA 126 66 60 36 41701| 15 276 146 130 93 50450| = th = 346 175 171 129
20029 |(fR)fitiE 619 277 342 191 HREE /MR R AT 1,681 794 887 611 = K/ MR X E 3,950 1,888 2,062 1,385
20032 | & 48 374 181 193 130 SRR & 7,013 3,324 3,689 2,480 = ki B 9,701 4574 5127 3,399
FER A RXET 1,815 828 987 579
% B Rinig &t 16,089 7,583 8,506 6,032 X4 & i 5 ES i
60101 ;= 1T 579 257 322 210
60701 | &#Hh 2 DE S 543 137 406 48
EmITMRXE 1,122 394 728 258
60201 | F iz 792 359 433 282
60301 /]I B # 1,273 580 693 434
60401 | AR 555 276 279 285
60404| /511 B 26 11 15 12
605014k 470 210 260 193
INRFIMRRET 3,116 1,436 1,680 1,206
60601 K8 1,110 513 597 378
FEE/IMRXE 1,110 513 597 378
INR SIS B 5,348 2,343 3,005 1,842
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